Module 4
5-12
Develop a four-month moving average forecast for Wallace Garden Supply and compute the MAD.  A three-month moving average forecast was developed in the section on the moving averages in Table 5.3.

5-13

Using MAD, determine whether the forecast in Problem 5-12 or the forecast in the section concerning Wallace Garden Supply is more accurate.

5-14

Data collected on the yearly demand for 50-pound bags of fertilizer at Wallace Garden Supply are shown in the following table.  Develop a three-year moving average to forecast sales.  Then estimate demand again with a weighted moving average in which sales in the most recent year are given a weight of 2 and sales in the other two years are each given the weight of 1.  Which method do you think is best? 

	YEAR 
	DEMAND FOR FERTILIZER

            (1,000S OF BAGS)

	1
	4

	2 
	6

	3
	4

	4 
	 5

	5
	10

	6
	8 

	7
	7

	 8
	 9

	9
	12

	                           10
	                             14

	11
	15

	 
	 


5-18

Sales of Cool-Man air conditioners have grown steadily during the past five years.
	YEAR
	SALES

	1
	450

	
	

	2
	495

	
	

	3
	518

	
	

	4
	563

	
	

	5
	584

	
	

	6
	?

	
	


The sales manager had predicted, before the business started, that year 1’s sales would be 410 air conditioners.  Using the exponential smoothing with a weight of    [image: image1.png]


 = 0.30, develop forecasts for years 2 through 6.

5-22

Using the trend projection method, develop a forecasting model for the sales of Cool-Man air conditioners (see problem 5-18).

5-33

Management of Davis’s Department Store has used time-series extrapolation to forecast retail sales for the next four quarters.  The sales estimates are $100,000, $120,000, $140,000, and $160,000 for the respective quarters before adjusting for seasonality.  Seasonal indices for the four quarters have been found to be 1.30, 0.90, 0.70, and 1.10, respectively.  Compute a seasonalized or adjusted sales forecast.
***HINTS***

Chapter 5 Hints
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Absolute value means that you treat both positive and negative numbers as positive numbers. For example, 

| - 0.67 | = 0.67

5-12

· Since it’s a 4-month moving average, 4 months have to pass before you can forecast. So you’d start with May.
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· You can’t have a deviation unless you have both an actual and a forecast. Therefore, Jan, Feb, Mar & Apr won’t have deviations and neither will Jan of the next year.

5-14

· Since both are 3-year, you have to start with the 4th year. For year 4:
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=4.67




· In order to know which is better, you must calculate and compare the MADs.

5-18
You need to use the forecast for the first year as provided in the problem for [image: image5.png]


in the [image: image6.png]


equation. For example, the table for [image: image7.png]


=0.30 would start like this:
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Then you calculate the forecast starting with year 2.
5-22 

· X = Year and Y = Sales. 

· Use Regression Tool in Excel. You can set up your table in Excel with col 1 = Year (X), col 2 = Sales (Y).

5-33

· This is not a trend problem.

· Look at page 168 above the "Seasonal Variations with Trend." While it shows for months, we're interested in quarters. Since we already have the estimate for a quarter, we don’t need to average it over the year and the indices have already been calculated. So all you do is multiply each forecast given in the problem by its respective index, also given in the problem. 

